

تالیف ۱۴

به نام خدا

ایلیا رضی دم ۱۳

$$\alpha_n = \frac{1}{r} \text{ و } ۱ \text{ و } ۲ \text{ و } ۳ \text{ و } ۴ \text{ و } ۵ \text{ و } ۶ \text{ و } ۷ \text{ و } ۸ \text{ و } ۹$$

$$\alpha_n = \frac{1}{r} \times r^{(n-1)} \rightarrow \frac{1}{r} \times r^9 = r^1 = \boxed{۲۵۶}$$

$$\frac{\alpha_{14}}{\alpha_{13}} = \frac{\alpha_{9^{14}}}{\alpha_{9^{13}}} = 9^1 \rightarrow r^1 = \boxed{۱۶}$$

$$b^r = a_c \rightarrow b^r = a_f \times a_i = r^1 \cdot r^1 = r^2 \rightarrow b^r = r^1$$

$$\alpha_f = \frac{1}{r} r^2 = r^1 \quad \alpha_i = \frac{1}{r} r^9 = r^1$$

$$\rightarrow b = \boxed{r^5} = \boxed{۳۲}$$

$$1 \times A = \frac{1}{r} \times r^{(n-1)} \rightarrow ۲۵۶ = r^{(n-1)} \rightarrow r = r^{n-1} \rightarrow n = \boxed{9}$$

$$q^{m-n} = \frac{\alpha_m}{\alpha_n} \rightarrow \frac{\alpha_1}{\alpha_5} = 9 \rightarrow q^1 = \frac{9^5}{16} \rightarrow q^1 = r^1 \Rightarrow q = r$$

$$\alpha_1 \times q^r = \alpha_i \rightarrow \alpha_i = 9^6 \times r^1 = \boxed{۳۱۴}$$

$$P_n = (d_{wg})^n$$

$$\alpha_1 \times \alpha_r \times \alpha_r \times \alpha_r \times \alpha_r \times \alpha_5 = ۲۴۳ \rightarrow \alpha_r^5 = ۲۴۳ \rightarrow \alpha_r = \boxed{۳}$$

$$\alpha_1 \times \alpha_5 = \alpha_r \times \alpha_r \rightarrow \alpha_1 \times \alpha_5 = \boxed{9}$$

PARAMOUNT

$$r^a, r^{\sqrt{r}}, r^b$$

$$b^r = ac \rightarrow (\sqrt{r})^r = (\sqrt{r})^r = r^{\frac{r}{2}} \rightarrow r^{\frac{r}{2}} = r^{\frac{a+b}{2}} \rightarrow a+b = r$$

$$a \rightarrow x \rightarrow b \rightarrow x = \frac{a+b}{r} \rightarrow x = \frac{r}{2}$$

$$\alpha_w = \alpha q^r = 1-x$$

$$\alpha_v = \alpha q^r = x$$

$$\alpha_r \times \alpha_{11} = \alpha_v \times \alpha_w$$

$$\alpha_{11} = \alpha q^1 = x+1$$

$$\rightarrow (1-x)(1+x) = x^r$$

$$\rightarrow 1-x^r = x^r \rightarrow r x^r = 1$$

$$\rightarrow x^r = \frac{1}{r}$$

$$x = \pm \frac{\sqrt[r]{r}}{r}$$

$$\left\{ \begin{array}{l} x = \frac{1}{\sqrt[r]{r}} \\ x = -\frac{1}{\sqrt[r]{r}} \end{array} \right.$$

$$\alpha_1 + \alpha_r = \alpha + \alpha q^r = r \rightarrow \alpha(1+q^r) = r$$

$$\alpha_v + \alpha_r = \alpha q + \alpha q^r = r \rightarrow \alpha q(1+q) = r$$

$$\frac{\alpha_1 + \alpha_r}{\alpha_v + \alpha_r} = \frac{r}{r} \rightarrow \frac{\alpha(1+q^r)}{\alpha q(1+q)} = \frac{r}{r} \rightarrow \frac{(q+1)(q^r - q + 1)}{q(1+q)} = \frac{r}{r}$$

$$\rightarrow r q^r - r q + r = r q \rightarrow r q^r - 1 \cdot q + r = 0$$

$$(q-1) \rightarrow q^r - 1 \cdot q + r = 0 \rightarrow (q-1)(q-1) \rightarrow q \left\{ \begin{array}{l} q = \frac{r}{r-1} = r \\ q = \frac{1}{r-1} \end{array} \right.$$

$$\rightarrow \alpha_1 + \alpha_r = r \rightarrow \alpha_1 + \alpha_1 q^r = r \rightarrow \alpha_1 = 1$$

$$\alpha_1 = \frac{r}{r}$$

$$1, r, q, \boxed{\frac{r}{r}}, \boxed{\frac{r}{r}} q, r, 1$$

$$1. \alpha \cdot \alpha q \cdot \alpha q^r = \alpha^r q^r = rV \Rightarrow \alpha q = r \rightarrow \alpha = \frac{r}{q} \quad (V)$$

$$2. \alpha + \alpha q + \alpha q^r = 1r \rightarrow \alpha(1 + q + q^r) = 1r$$

$$3. \rightarrow \frac{r}{q}(1 + q + q^r) = 1r \rightarrow r(1 + q + q^r) = 1r q$$

$$4. \rightarrow r q^r + r q + r = 1r q \rightarrow r q^r - 1 \cdot q + r = 0$$

$$5. \rightarrow q^r - 1 \cdot q + q = 0 \rightarrow (q-1)(q-q)$$

$$6. \rightarrow \begin{cases} q = \frac{1}{r} \\ q = \frac{q}{r} = r \end{cases}$$

$$9. \rightarrow \boxed{1}, r, \boxed{q} \quad ; \quad \boxed{q}, r, \boxed{1}$$

$$11. \alpha_n = r, r, 1r, \dots \quad \alpha_n = \alpha q^{n-1} = r \times r^{n-1}$$

$$13. S_n = \alpha \left(\frac{q^n - 1}{q - 1} \right) \rightarrow S_1 = \frac{r(r^1 - 1)}{r - 1} = \boxed{r - 1} \quad (\text{الف})$$

$$15. P_n = (\alpha_1 \times \alpha_n)^{\frac{n}{r}} \rightarrow P_1 = (r \times r \times r^q)^{\frac{1}{r}} = \boxed{r \times r^q} \quad (\text{ب})$$

$$18. \alpha - \alpha q, \alpha q - \alpha q^r, \alpha q^r - \alpha q^r \quad (9)$$

$$19. (\alpha q - \alpha q^r)^r = (\alpha - \alpha q)(\alpha q^r - \alpha q^r)$$

$$(aq - aq^r)^r = (a - aq)(aq^r - aq^r)$$

$$\rightarrow q^r (q - q^r)^r = q^r (1 - q)(q^r - q^r)$$

$$\rightarrow q^r + q^r - 2q^r = q^r - q^r - q^r + q^r$$

$$\rightarrow q^r + q^r - 2q^r = q^r + q^r - 2q^r \checkmark$$

$$a - aq, aq - aq^r, aq^r - aq^r$$

$$\rightarrow a(1 - q), a(q - q^r), a(q^r - q^r)$$

$$\begin{array}{cc} \curvearrowright & \curvearrowright \\ \times q & \times q \end{array}$$

$$q \neq q^r \text{ البتة}$$

$$S_n = \frac{n}{2} (2a + (n-1)d)$$

12
(الف)

$$a_1, a_2, a_3, \dots, a_{n-2}, a_{n-1}, a_n$$

$$a_1 + a_n = a_2 + a_{n-1} = a_3 + a_{n-2}$$

$$S_n = (a_1 + a_n) \frac{n}{2} \xrightarrow{a_n = a_1 + (n-1)d} S_n = \frac{n}{2} (a_1 + a_1 + (n-1)d)$$

$$\rightarrow S_n = \frac{n}{2} (2a_1 + (n-1)d)$$

$$S_n = \alpha \left(\frac{q^n - 1}{q - 1} \right)$$

$$\alpha, \alpha q, \alpha q^2, \dots, \alpha q^{(n-1)}$$

$$\begin{aligned} S_n &= \alpha + \alpha q + \alpha q^2 + \dots + \alpha q^{(n-1)} \\ \times q \quad \left(\begin{array}{l} \downarrow \\ q S_n = \alpha q + \alpha q^2 + \alpha q^3 + \dots + \alpha q^n \end{array} \right) \times q \end{aligned}$$

$$S_n - q S_n = \alpha - \alpha q^n \rightarrow S_n (1 - q) = \alpha (1 - q^n)$$

$$\rightarrow S_n = \frac{\alpha (1 - q^n)}{(1 - q)} = S_n = \alpha \left(\frac{q^n - 1}{q - 1} \right)$$